Fraternity and endogamy. The house of Rothschild. – Adam Kuper
The house of Rothschild = largest bank after Napoleon and before WW I ( family bussines

Family solidarity = key to their success (main business was management of fam capital)

Struct of fam and mechanisms by which it maintains its cohesiveness ( °new mechanisms of alliance, inheritance and succession, honed to the specific requirements of their very unusual enterprise…

The five arrows

= 5 brothers (on the coat of arms represented by a hand with 5 arrows), sons of Mayer Amschel (= founder) ( see grid p. 274

Single secret (ferguson): ‘it was the system of co-operation between the five houses which made them, when considered as a whole, the largest bank in the world, while at the same time dispersing their financial influence in 5 major financial centers spread across Europe’

Fraternity

1) Fraternity = first principle on which unity of the house was build
The doctrine was impressed on to the next generation
2) Next to this principle: new strict rule: only Rothschild men were eligible to be partners. = strict patrilineal system of succession

3) All sons were treated equally

Problem of the rule: 

· not enough male successors
· not all qualified and enthusiastic bankers

· the environment changed and by the 1970’s had become less hospitable to the Rothschild system

Endogamy and exogamy

°various techniques to sustain fam solidarity

A radical new policy of marriage alliance was imposed, a system of endogamy that was effectively binding on the sons (only in the 3rd generation)

Start:

· Jewish tradition: endogamy
· European ghetto system: local endogamy

· In this local endogamy: fam of same status ( small communities to be married in
( if the Rothschild children were to marry Jews of equivalent status, the chances were that they would have to marry Rothschild’s. 

Marrying cousins

Marriages between Rothschild reinforced the bonds between the various branches of the family, and the weddings were occasions for the reassertion of filial devotion. 

° a policy of virtually exclusive lineal endogamy: the preference was always clearly for a marriage between 2 Rothschild’s who were related trough males ( united children of two partners, marriages were designed to sustain the links between the 5 branches of the bank (to prevent the houses to drift apart)

(
In such a way as to establish a balanced series of alliances between the descendants of the four brothers who had children. (see grids p. 280 & 281)

Who married whom?

Impression that marriage alliances were systematically ordered. 

The 1st born child of the five brothers married the eldest daughter of his father’s next brother.  (grid p. 281)

After a while they were related to each other along various ways. (overlapping connections between fam members in the 3rd generation)

Each marriage was carefully planned and negotiated, and reflected among other things the balance of power between the branches at any particular time. (some marriages ( coincided with tensions e.g.)

Conclusion

· The structure of the bank was tied up inextricably with the policy of Rothschild endogamy

· Keeping the wealth in the family

· There were no eligible partners of equivalent standing available to marry Rothchilds 

· Were they following an established model?

· Like an Arabian tribe?

( it was a creative adaptation to the unique structure of the multinational family bank.
